UIL Accounting District 2004-D1

page 10

UIL ACCOUNTING

District 2004-D1

Group 1

Questions 1 through 8 are transactions that took place in April for a business called Joe’s Landscaping Service.  Use the following code to describe each transaction.

A. increases an asset and decreases an asset

B. increases an asset and increases a liability

C. increases an asset and increases owner’s equity

D. decreases an asset and decreases a liability

E. decreases an asset and decreases owner’s equity
1. Paid a supplier on account

2. Bought chain saw oil and other supplies on account (these supplies should last

    several months)

3. Performed a tree removal service and billed the customer for $200 with payment 

    due in ten days

4. Bought new riding lawn mower by writing a check for $2,500

5. Mowed the lawn and received customer’s payment of $150

6. The owner wrote a check for cash to use personally

7. The owner deposited $5,000 into the business account (these funds came from the 

     owner’s personal savings account)

8. Wrote a check for gasoline to be used in April

Group 2

Using the code below, identify how questions 9 through 13 would be handled for the June 30 bank reconciliation of Graystone Co.




A. added to the checkbook balance




B. deducted from the checkbook balance




C. added to the bank statement balance




D. deducted from the bank statement balance

  9. Graystone Co.’s June checks #1860, #1862, and #1865 were not listed on the bank

      statement as cleared items.

10. There was a bank service charge of $8.00.

11. A deposit on June 30 was not listed among the bank statement deposits for 

      June.

12. Graystone Co.’s check #1855 was recorded on the check stub as $64 and correctly


cleared the bank as $46.

13. A customer’s check deposited on June 28 by Graystone Co. was returned by the

      bank as NSF.  Graystone Co. first learned about this upon receipt of the June bank 

      statement.

Group 3

At the beginning of the fiscal year, Baker Company’s liabilities were $90,000.  During the year, assets increased by $85,000.  At the end of the year, assets totaled $216,000.  Liabilities decreased by $15,000 during the year.  The owner made no withdrawals, but invested $25,000 in the business during the year.

For questions 14 through 16, write the correct amount on your answer sheet.  

14. What was the total owner’s equity at the beginning of the year?

15. What was the total owner’s equity at the end of the year?

 *16. What was the net income for the year? 

Group 4

The following is an unorganized list of the steps in the accounting cycle.  Answer questions 17 through 22 based on the correct order. On your answer sheet, write True if the statement is true; write False if the statement is false.


Item #

Unorganized List
1 Journalize each transaction.

2 Analyze business transactions.

3 Complete the work sheet.

4 Post transactions to the general and subsidiary ledgers.

5 Prepare financial statements.

6 Journalize and post closing entries.

7 Journalize and post adjusting entries.

8
           Prepare the Post-Closing Trial Balance.
9
Collect and verify data from business transactions.
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Prepare the Trial Balance.

17. Item 2 should take place before Item 9.

18. Items 1 and 2 are listed in reverse order.

19. The unadjusted trial balance is the same thing as item 8.

20. Item 4 should take place before Item 1.

21. Item 6 should take place before Item 7.

22. The final step is item 8.

Group 5

For questions 23 through 28, write the identifying letter of the best response on your answer sheet.  Data in question #23 will also be used in question #24.

23. Bounty’s Quick Stop had cash sales for the day of $1,982.00 and sales tax collected


of $163.52.  At the end of the day, the cash in the cash register drawer totaled 


$2,269.97.  The clerk indicated on the Cash Proof Sheet for the day that he was 


short by fifty-five cents.  What was the amount in the change fund at the beginning

       of the day?


A. $120.00
B. $123.90
C. $124.45
D. $125.00
E. $125.55

 *24. Use the information in Question #23.  If the sales clerk needed to set aside the 


same amount of cash for tomorrow’s change fund as was used to start today’s,


how much money should be deposited to the bank checking account today?


A. $2,144.42

D. $2,146.07




B. $2,144.97

E. $2,149.97




C. $2,145.52 

F. $2,269.97

25. If the sales clerk gives a customer too much change, the amount of cash in the


drawer at the end of the day will be


A. correct
B. over
C. short

26. The Cash Short and Over account is a(an) __?__ account.


A. permanent
B. asset
C. temporary owner’s equity 
D. liability

27. Which of the following statements is true?


A. Cash overages result in revenue to the business, and are recorded as debits


  
to Cash Short and Over.


B. Cash shortages result in an expense to the business, and are recorded as



credits to Cash Short and Over.


C. Cash Short and Over does not have a normal balance side.


D. All of the above statements are true.

28. The entry to establish a change fund does not include a


A. debit to Change Fund.


B. credit to Cash in Bank.


C. credit to Petty Cash.

Group 6

Use the following information to answer questions 29 and 30.  Write the correct amount on your answer sheet.

General Ledger:                           Accounts Payable
	
	 10,900            (1-1-03)

	
	

	(Jan 2003)____?_____
	____?____  (Jan 2003)

	
	

	
	   6,800            (1-31-03)

	
	


Accounts Payable Subsidiary Ledger:

           Acme Sales Co.                                 Debit
      Credit          Balance

	1-1-03
	
	
	2,000

	Jan 2003
	?
	4,300
	2,700


           Jolson Manufacturing  

       Debit
      Credit
     Balance

	1-1-03
	
	
	?

	Jan 2003
	3,400
	1,300
	?


           Urban Industries 


       Debit
      Credit
     Balance

	1-1-03
	
	
	5,500

	Jan 2003
	?
	2,700
	?


29. What is the balance of the Jolson Manufacturing account on 1-31-03?

  *30. How much was paid to Urban Industries on account in January 2003?

Group 7

Use the following information for questions 31 and 32.  Write the identifying letter of the correct amount on your answer sheet.

Payroll tax expense per employee is based on the following:

	Social Security
	6.2% on gross earnings up to $87,000

	Medicare
	1.45% on all earnings

	Federal Unemployment Tax
	.8% on first $7,000 of gross earnings

	State Unemployment Tax
	.65% on first $9,000 of gross earnings

	Federal Income Tax
	Disregard


The applicable employer matching taxes are at the same rate as the employee rate.

The earnings for the calendar year 2003 for the employees of Best Music Sales are as follows:

	Employee
	Cumulative

Earnings

	Shelly Best
	90,000

	Dora Murrey
	35,000

	Pat Dyson
	7,600

	Anna Long
	5,000


  *31. What is the total amount of payroll taxes paid by all the employees?


A. $10,340.40




B. $10,526.40




C. $10,747.30


D. $12,521.60

 **32. What is the total amount of payroll tax expense incurred by the employer?


A. $406.00



B. $406.90



C. $10,340.40



D. $10,526.40


E. $10,747.30


F. $14,500.40

Group 8

Below are the normal account balances of Radcliff Company at the end of the fiscal year from the adjusted trial balance columns of the work sheet.

	A
	Cash in Bank
	18,420
	
	H
	Income Summary
	-0-

	B
	Accounts Receivable
	3,850
	
	I
	Fees Income
	46,540

	C
	Supplies on Hand
	1,495
	
	J
	Advertising Expense
	2,940

	D
	Prepaid Insurance
	3,880
	
	K
	Insurance Expense
	4,655

	E
	Accounts Payable
	6,995
	
	L
	Supplies Expense
	2,900

	F
	Becki Radcliff, Capital
	 ?    
	
	M
	Rent Expense
	15,000

	G
	Becki Radcliff, Drawing
	25,000
	
	N
	Miscellaneous Expense
	850


For questions 33 through 45, use the identifying letters to indicate the accounts debited and credited in the following closing entries.  Also write the correct amounts as required on your answer sheet.  If an answer requires multiple parts, any order in which you write the parts is acceptable.  However, all parts of your response must be correct for your answer to be correct.  

33-35. The first closing entry includes a debit to #33 and a credit to #34 for $_ #35.

36-38. The second closing entry includes a debit to #36 and a credit to #37 for a total of

            $_ #38_.

39-41. The third closing entry includes a debit to #39 and a credit to #40 for $_ #41_.

42-44. The fourth closing entry includes a debit to #42 and a credit to #43 for $_ #44_.

 *45. What is the balance of the capital account on the post-closing trial balance?

Group 9

Refer to the data in Table 1 on page 10.  (You may remove the table page from the staple for convenience.)  For questions 46 through 49, write True if the statement is true; write False if it is false.

46. After corrections, the balance of the Accounts Receivable account is $1,830.

47. After corrections, the balance of the Cash account is $2,370.

48. After corrections, the balance in the Service Fees Earned account is $3,330.

49. After corrections, the balancing total of the Trial Balance is $16,622.

Group 10

Identify the account classification of items 50 through 57 by writing the correct identifying letter on your answer sheet AND indicate the decrease side of the account by writing DR for debit or CR for credit.  Both parts of each compound answer must be correct in order for your response to be counted correct.



A. Asset
D. Revenue




DR=debit



B. Liability
E. Cost of Merchandise Sold

CR=credit



C. Capital
F. Expense

50. the value of supplies used this fiscal period

51. Purchases Discounts

52. the amount owed to the state for state sales taxes collected

53. Purchases

54. Sales Discounts

55. Merchandise Inventory

56. the value of insurance still in force for the next fiscal period

57. the amount withdrawn from the business by the owner for personal use

Group 11

Refer to the data in Table 2 on page 11 and the work sheet on page 12.  (You may remove the table page and work sheet from the staple for convenience.  The graders will not review the work sheet.)  For questions 58 through 69, write the identifying letter of the best response on your answer sheet.

 *58. The merchandise inventory on January 1, 2003 was

A.  $2,190     B. $68,100     C. $70,290     D. $72,480

59. The total debits of the trial balance prepared after posting the regular transactions to 

the general ledger are

A.  $235,552     B. $237,742     C. $305,842     D. $308,032

 *60. The capital account balance on January 1, 2003 was

A.  $70,290     B. $82,005     C. $87,005     D. $92,005

61. The amount of the supplies adjustment is

A.  $2,750     B. $2,963     C. $3,568     D. $4,260
  E. $5,713

62. The total debits of the Adjusted Trial Balance on the work sheet is


A. $235,552
B. $237,742

C. $305,842

D. $308,032

63. On the line for Insurance Expense on the work sheet, the amount extended to the 

income statement debit column represents the value of insurance

A.  bought during the fiscal period

B.  available during the fiscal period

C.  used during the fiscal period

D.  still in force at the end of the fiscal period

Group 11 continued

 64. On the line for Supplies on the work sheet, the amount in the trial balance 

debit column represents the value of supplies

A.  at the beginning of the fiscal period plus supplies bought during the fiscal period

B.  bought during the fiscal period

C.  used during the fiscal period

D.  still on hand at the end of the fiscal period

 65. The balance in the Insurance Expense account after adjustment is

A.  zero     B. $3,790     C. $4,260     D. $5,400     E. $8,050
F. $9,660

 66. The adjustment for Insurance Expense would include a

A.  credit to Prepaid Insurance for $2,963

B.  credit to Prepaid Insurance for $4,260

C.  debit to Insurance Expense for $9,660

D.  debit to Insurance Expense for $1,610

   *67. The total of the balance sheet credit column before net income or loss has been 

calculated is

A. $116,785     B. $149,660     C. $158,372     D. $191,247

   *68. The total of the income statement debit column before net income or loss has been 

calculated is

A.  $116,785     B. $149,660     C. $158,372     D. $191,247

   *69. Total assets on 12-31-03 are:


A. $64,403       B. $129,660       C. $134,693       D. $136,883       E. $149.660

For questions 70 through 72, continue to refer to Table 2 and write the correct amount on your answer sheet.

  70. What was the balance in the Supplies account on January 1, 2003?

  71. What was the balance in the Prepaid Insurance account on January 1, 2003?

  **72. On the Statement of Owner’s Equity for the year ended December 31, 2003, what 

  

 is the amount of Mr. Brainshaw’s capital on December 31, 2003?

Group 11 continued

Continue to refer to the data in Table 2.  For questions 73 through 80, give the correct amounts that would appear on the Income Statement for the year ended December 31, 2003.

 73. Net Sales

  *74. Gross Profit

 75. Cost of Merchandise Available for Sale

 **76. Cost of Merchandise Sold

 77. Net Purchases

 78. Cost of Delivered Merchandise

 79. Total Expenses

***80. Net Income

This is the end of the exam.  Please hold your answer sheet and exam packet 

until the contest director calls for them.  Thank you!

Table 1

(for questions 46 through 49)

Jay Maxwell, CPA

Trial Balance

August 31, 2003

	Cash
	2,500
	

	Accounts Receivable
	3,000
	

	Office Supplies
	3,500
	

	Office Equipment
	2,800
	

	Accounts Payable
	
	2,903

	Jay Maxwell, Capital
	
	10,000

	Service Fees Earned
	
	2,420

	Wages Expense
	5,222
	

	Totals
	17,022
	15,323


The trial balance above is out of balance.  An examination of the records revealed the following:

1. A $360 collection of an account receivable was journalized as $630.

2. A computer purchased on credit for use in the office was journalized with a

    debit to Office Supplies and a credit to Accounts Payable for $2,500.

3. A service performed on credit for $900 was posted with a debit to Accounts

    Receivable for $900 and a credit to Services Fees Earned for $90.

4. A payment of wages was posted with a debit to Wage Expense for $200 and a 

    debit to Cash for $200.

5. Recalculating the Service Fees Earned account balance before any of the

    above corrections had been made revealed that the balance should be $2,520

    instead of $2,420.

6. An investment made by Maxwell in the business during the month for $1,000

    was not posted to the capital account (the entry to Cash was posted correctly).

7. A $310 payment of an account payable was posted with a credit to Cash for

    $310 and a credit to Accounts Payable for $301.

Table 2

(for questions 58 through 80)

The normal balances of the general ledger accounts of Terry’s Garden Supply on December 31, 2003 after all regular operating transactions have been recorded for the year are listed below.  Other information is listed including data needed for the end-of-year adjustments.  The company makes adjusting and closing entries only at year-end.  The following amounts have been transferred to the work sheet correctly for your convenience.

	Account Title
	Amount
	
	Account Title
	Amount

	Cash in Bank
	11,360
	
	Sales
	185,298

	Accounts Receivable
	4,280
	
	Sales Discounts
	2,487

	Merchandise Inventory
	??
	
	Sales Returns & Allowances
	3,561

	Supplies
	5,713
	
	Purchases
	109,726

	Prepaid Insurance
	8,050
	
	Purchases Discounts
	1,275

	Equipment
	35,000
	
	Purchases Returns & Allow.
	2,484

	Accounts Payable
	25,960
	
	Transportation In
	3,773

	Sales Tax Payable
	3,820
	
	Advertising Expense
	3,462

	Terry Brainshaw, Capital
	87,005
	
	Rent Expense
	18,600

	Terry Brainshaw, Drawing
	20,000
	
	Utilities Expense
	9,540


Additional Data:

· The owner invested $5,000 in the business during the year.

· Merchandise Inventory on December 31, 2003 was $72,480.

· Supplies on hand on December 31, 2003 were $2,750.

· Supplies purchased during 2003 were $3,568.

· Insurance premiums of coverage still in force on December 31, 2003 were $3,790.

· Insurance premiums paid for during 2003 were $5,400.
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	Terry’s Garden Supply

	Work Sheet

	For the Year Ended December 31, 2003

	Account Title
	Trial Balance
	Adjustments
	Adjusted Trial Balance
	Income Statement
	Balance Sheet

	
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit

	Cash in Bank
	11,360
	
	
	
	
	
	
	
	
	

	Accounts Receivable
	4,280
	
	
	
	
	
	
	
	
	

	Merchandise Inventory
	
	
	
	
	
	
	
	
	
	

	Supplies
	5,713
	
	
	
	
	
	
	
	
	

	Prepaid Insurance
	8,050
	
	
	
	
	
	
	
	
	

	Equipment
	35,000
	
	
	
	
	
	
	
	
	

	Accounts Payable
	
	25,960
	
	
	
	
	
	
	
	

	Sales Tax Payable
	
	3,820
	
	
	
	
	
	
	
	

	Terry Brainshaw, Capital
	
	87,005
	
	
	
	
	
	
	
	

	Terry Brainshaw, Drawing
	20,000
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	Sales
	
	185,298
	
	
	
	
	
	
	
	

	Sales Discounts
	2,487
	
	
	
	
	
	
	
	
	

	Sales Ret. & Allow.
	3,561
	
	
	
	
	
	
	
	
	

	Purchases
	109,726
	
	
	
	
	
	
	
	
	

	Purchases Discounts
	
	1,275
	
	
	
	
	
	
	
	

	Purchases Ret. & Allow.
	
	2,484
	
	
	
	
	
	
	
	

	Transportation In
	3,773
	
	
	
	
	
	
	
	
	

	Advertising Expense
	3,462
	
	
	
	
	
	
	
	
	

	Rent Expense
	18,600
	
	
	
	
	
	
	
	
	

	Utilities Expense
	9,540
	
	
	
	
	
	
	
	
	

	
	
	305,842
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	


